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; i ' 07 km to lsland B and then
7 A marathon swimmer s{arts at Island A, swims Y.z km 2

2 6 km to Island C 1f ZBAC = 52°, how far does she have to swim back 10
8.6 km to 1s5land L. 1i 24X
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7. The Raven’s Song, a traditional Tsimshian cedar canoe, is paddled away 6 SA
from a dock, directly toward a navigational buoy that is 5 km away. R
After reaching the buoy, the direction of the canoe is altered and it is / b
paddled another 3 km. From the dock, the angle berween the buoy / a(r
and the canoe’s current position measures 12°.

a) How far is the Raven's Song from the dock? 5 5 ‘ N n
alt =

b) Is this the only possible solution? Explain.
' al% =).

¢y

B|II Helm carved the Raven’s Song from a 600 year- old cedar taken from the
Nimpkish Valley. The canoe was created to carry a message of goodwill from
the First Nations Peoples of the West Coast of British Columbia to the 1994
Commenwealth Games in Victoria.
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a) 7.7 km
b) e.g., No. From the buoy, the canoe could have travelled 3 km
toward the shore (acute angle) or away from the shore (obtuse

angle).
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Review for Test - Lots of Practice from the Texthook!!!

Chapter Review... Page 128
(Frequently Asked Questions) Page 193
Page 174
Page 199

Practice Questions... Page 129 #1-9
Page 194 #1-12
Page 179 #1-9
Page 200 #1-8

Practice Tests... Page 192 #1-8
Page 198 #1-1
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A Express lengths to one decimal place and angles (0 the nearest degree.
| For each AABC, decide what type of solution you will obtain for £B. |
(a) a=45.b=715, LA=176° "
(b) ZA=48°a=26b= 22 i
(c) b=576,a =730, LA =31°
(d) a=156,b=254, LA =69° .
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(b) sinA= 0.3907 5‘ - £
O

(a) sinA =0.7431

(c) sinA=0.7169 (d) sinA= 0.8686

4  For each triangle, find the measure, OF possible measures. of angle 6.
60.5 Q

5 Solve each AABC.

(a) a=655b=184, ZA=51°
(b) p=15,¢=554£B=175°

(c) b=163,c= 18.2, 4B =54°

(d) b=255.¢c= 22.5, £C=62°

20.0 km apart. A ranger at station Q sees a

6 Two forest fire stations, P and Q, are
the line PQ and the line from P to the

fire 15.0 km away. If the angle between
fire is 21°, find how far station P is from the fire.

d A, swims 9.2 km to Island B and then

7 A marathon swimmer starts at Islan
. how far does she have to swim back to

8.6 km to Island C. If Z/BAC =52°
Island A?
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